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candidates will read the question paper only and will not write any answer

on the answer-book during this period. *
SOCIAL SCIENCE
frafka @@ : 2 g7 HIGFTT 3 : 40
Time allowed : 2 hours Maximum Marks : 40

32/4/3 Page 1 P.T.0.




LGIISAECHE

Frafafaa et = aga @ @ ufew 3t s Tt | uren fif
(i) FTHT-77 9 F7 13 Fo7 8 | @t 97 371414 & |

(ii) Fo7-77 ier @Usl 4 fa9ifoa 8 — &, @, M, 9 & /

(iii) @UE-F 4 397 G&I7 1 8 5 7% 3717 TG~ JHR & 97 & 37K Fe9e F97 2 35! 1 & |
57 9] & IR JfIehad 40 Izl 8 159 577 F1l5T

(iv) @WUE-T 4 J97 &7 6 T 8 T TG-IT0T FHR 3 o7 § IR Fedh J97 3 bl #71 8 | 57
¥71 & I 3ferHaT 80 gl F 15T 77 F13T /|

(v) U H J97 G&I7 9 31K 10 FH-3T709 IHR 3 F97 8 | I3 97 5 37b) H1 8 | 7 5979 &
I 37frhan 120 v5] 7 12 717 130 |

(vi) TUS-H Y97 &I 11 3K 12 G ITEIRT F97 8 | 9% G974 3 H1 HT8 |

(vii) TUE-F F J97 G&IT 13 THI=7 TETRT F97 8 | T8 F97 8 371 HT & | I8 g1 9Tl & fawnfora
8 — 13.1 3fer@ (1 31%) 31K 13.2 YeT (2 37%) |

(viii) Fo7-97 4 BI5 G 19T 781 & | FITl F& Jo71 § 3Tk T97 & 197 1T 70 8 | 37 3941 4
g 1341 v &7 fasbeq &7 37 for@ar 8 |

WUE - h

(atfa g -3l ue) 2x5=10

1. 1920 % e o EATT | 7Y T hl T[EH TETeA H Th 3 TReaT e Fi hel

T ? 2
2. YIRS T el T fohd TR AT BT R ? 2
3. I o el fraer & e wX afieRtor SRR | 2
4. YA UHT TSN o Haw oh! SATEAT HIfT | 2

DN

5. Ueh GOl SHIET, €1 Cofd SHaedT ¥ ope YR Rra & 7 Seretvnl |fgd wrw IR |
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General Instructions :

Read the following instructions very carefully and strictly follow them.

(1)

(i1)
(iii)

(iv)

(v)

(v)

There are 13 questions in the question paper. All questions are
compulsory.

This question paper is divided into 5 Sections — A, B, C, D and E.
Section A — Question no. 1 to 5 are very short answer type questions of
2 marks each. Answer to each question should not exceed 40 words.
Section B - Question no. 6 to 8 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.
Section C — Question no. 9 and 10 are long answer type questions,
carrying § marks each. Answer to each question should not exceed 120
words.

Section D — Question no. 11 and 12 are Case Based questions, carrying

4 marks each.

(vit) Section E — Question no. 13 is map based, carrying 3 marks with two

parts, 13.1 from History (1 mark) and 13.2 from Geography (2 marks).

(viit) There is no overall choice in the question paper. However, an internal

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

SECTION - A

(Very Short Answer Questions) 2x5=10

1. Why was a militant guerilla movement spread in the Gudem hills of
Andhra Pradesh in the early 1920s ? 2
2.  How do double coincidence of wants arise ? 2
3.  Classify industries on the basis of capital investment. 2
4. Explain the importance of National Highways in India. 2

5. How is one-party system different from two-party system ? Explain with
examples. 2
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Qs -9

(Tg-3T8a 99) 3x3=9
6. (%) WEl 1922 T g e 7 FAEEANT eI bl ST9d o T Heaa 91 feman 7 o1
FHIfT | 3
Jreran
(@) wow fova g 7 fora yepr v H 18 3nifies feufa der ot 7 v hifvu |
7. ‘CArhaiieh TN RGN 3T 94 Bl 8 I” 39 e shi =Imrea gfE i | 3
8. M mEwEyul Sl Sl Idl i SATEA HIRT | 3
Qug - T
(S-3ad ue) 5x2=10
9. (%) WA Y ToHITaeh gl < THey foregl uter s gttt shi v shifre | 5
Jreran
(@) “cehaites <o | TSHIfdeh g7 Hgwyul et fIaTd § |7 39 %= i =IEwa
3FH | 5
10. (%) HRA H g THR 3T TsT Tleh i gr foesft fasr ol smesfia @ & fow 38 g
Hedl 1 I hifu | 5
sroran
(@) WHA H A9e1ehIuT o YHTE hl g hifvTT | 5
Qg -
(T e I9) 4x2=8

11. feu e % 1 g3 HIfe 3 3ueh = fow o gt & s fafay

TeEH TN h! AT § TR TSR H HBH @l 9 R IFaATe, i Thefdig,
Torer e umsele S8 31 < @ el vt it 2 | Fefy vea s 1 stfamt y=m
1 TN HIfd % HROT FHh] B W 91 § qUTY AT §gM =q 3curg H fafaedn «ff
JTETTH & | 2005 W, U o fhaMl & fou 3= hma gifvaa &, 379 afa 3w
IeuTeH I HT IcaTeehdl § Jhg H TAT TUET H IR B 6 I 8 TP dewq
Hifer w1 fomtor fopam o o | yeHa % Y@ WiicgR-3THIHT, HATET, T, Hhal IWE,
FT3e febren 3R Irfeferan & | sgd fFerh wIieRu 3rgeer, Safm=ehia geri %
e fawa Y St STTEhaT 3 4A: S 3cTeT o foTT STaeR yeH fohan 2 |
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10.

11.

SECTION - B

(Short Answer type Questions) 3x3=

(a) Why did Mahatma Gandhi decide to withdraw the Non-Cooperation
Movement in February 1922 ? Explain.

OR

(b) How did the First World War create a new economic situation in India ?

Explain.

9

3

‘Democratic governments are transparent and legitimate.” Justify the statement. 3

Explain the three important ‘terms of Credit’.

SECTION - C

3

(Long Answer Type Questions) 5x2=10

(a) Examine any five major challenges faced by the political parties in
India.

OR

(b) “Political parties play an important role in democratic countries.”
Justify the statement.

(a) Examine the steps taken by the Central Government and State
Governments to attract foreign investment in India.

OR

(b) Examine the impact of globalization in India.

SECTION -D

(Case Based Questions) 4x2=

Read the given case and answer the questions that follow :

Challenges faced by the Jute industry include stiff competition in the
international market from synthetic substitutes and from other
competitors like Bangladesh, Brazil, Philippines, Egypt and Thailand.
However, the internal demand has been on the increase due to the
Government policy of mandatory use of jute packaging. To stimulate
demand, the products need to be diversified. In 2005, National Jute Policy
was formulated with the objective of increasing productivity, improving
quality, ensuring good prices to the jute farmers and enhancing the yield
per hectare. The main markets are U.S.A., Canada, Russia, United Arab
Republic, U.K. and Australia. The growing global concern for environment
friendly, biodegradable materials, has once again opened the opportunity
for jute products.

5

8
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12.

13.

(11.1) 9 ¥ 92e 31 & gret Tl &1 Tfaal o1 Seot@ Hifvu |
(11.2) T 2005 T oS TE vea fif 1 ge sewa s o ?
(11.3)  CH 3TN A Y: 370 IcdTal o oI fohe Feh R =13t 37ere weH fepu 8 7

fem 7w 3\ 1 ga A 3R 38 i few e i 3 3o forfaw
TEIRTE W HeTedt meft o forem

gl ST @ fob “Tifesra s geatl o1 gREm & | i 38 v | e Wi &1 ard 6t
TS 3 3 A AThaa 81 ST L Tohd o | I8 ISk Jiatig 31 31ih 81 o ; 38 fo1g
1 o= Fishardn =3y | eferor sshient w1 3tieieq fafsea 7l sfess afsra st en ... 1
“Hemrg IR 96 T8 8 | TmEl 3794 3 i T el TgaTdl; 98 U4 I 1 oA
TEl =R | ... HATHE o T H guieT o feTu s €I &1 g |’
HeATIE 1 Y€ HTCHSSA B | Ted & JATeHT T MU el & | AT 36 ot bl TeAWE Hh1
1 e T R | STTCHT T B EHE A Bt 2 | 390 SR Y ofl STetd § ... | AfEEr gt
R ..

‘g 1 Geg A b wia femmereR i wrEl % wmet # e A1 W BT gebreret TE
TRl | 37U I b <ol ! JUTEAT hd & | T SRR 8 19 81 Thd &, BId & 7 |
I H gl ot Heft gRER et 78 =T dehd | 38 AT S o 1 ITTHET
fams .0

(12.1)  Tefisht = feror arshient o fohe TehR T 3TTgie ST feparm o ?
(12.2) T ! ‘Yg HTcHIA I AT AT 7 7
(12.3)  Efsh 3 Ffsra gfetier &1 fra YR vl fhar @ 7

Qg -
(ATte= enenia uee)
(13.1) 94 & feu wu Uorifos W@ antas O =W (A) H g fefafea
BRI ! g & SHIfTT Ud 3HehT Tet A THfig < 178 @ W fefgu |
(A) T8 I & U A 1 3raH fHamst 1920 9 g3 o7 |
(13.2)  9Rd & 3 ARt W f=faRaa @1 3ugw g @ sifea e 3 sue
am fafEw |
@ () TEY — Tk &4
Froran
(@) HAYEHT — FATUTIh T

(i) BeUETE — Usha Meff SR gaT8 o=
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12.

13.

(11.1) Mention any two challenges faced by ‘jute industry’ in India.

(11.2) What was the main objective of National Jute Policy formulated
in 2005 ?

(11.3) How has jute industry once again opened the new opportunities
for its products ?

Read the given case and answer the questions that follow :

Mahatma Gandhi’s thoughts on Satyagraha
‘It is said of “passive resistance” that it is the weapon of the weak, but the
power which is the subject of this article can be used only by the strong.
This power is not passive resistance; indeed it calls for intense activity.
The movement in South Africa was not passive but active ...’
‘Satyagraha is not physical force. A satyagrahi does not inflict pain on the
adversary; he does not seek his destruction ... In the use of satyagraha, there
is no ill-will whatever.’

‘Satyagraha is pure soul-force. Truth is the very substance of the soul. That
is why this force is called satyagraha. The soul is informed with knowledge.
In it burns the flame of love ... Non-violence is the supreme dharma ...’

It is certain that India cannot rival Britain or Europe in force of arms. The
British worship the war-god and they can all of them become, as they are
becoming, bearers of arms. The hundreds of millions in India can never carry
arms. They have made the religion of non-violence their own ...’

(12.1) What type of movement Gandhiji organised in South Africa ?
(12.2) Why is satyagraha considered as pure soul-force ?
(12.3) How has Gandhiji described passive resistance ?

SECTION - E
(Map Based Question)
(13.1) On the given outline political Map of India, identify the place
marked as (A) with the help of following information and write
its correct name on the line marked near it.

(A) The place where National Congress Session was held in
September 1920.

(13.2) On the same given Map of India, locate and label the following
with appropriate symbols.

(1) (a) Tarapur — Nuclear Power Plant
OR
(b) Kalpakkam — Nuclear Power Plant
(1) Hyderabad — Rajiv Gandhi International Airport

O

[y
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e : Fmafafea g wae givafea whenfo=t & ooy dem 13.1 3 13.2 F A W |
(13.1) 39 =W %1 9 faRaw s@f fadex 1920 T wRd T g &1 AfenE
BT |
(13.2)  (F) 39 TT 1 T fIRaw &l aRIgE 3Tviferss Soft wost fRa 2 |
sroran
(@) 39 T 61 94 faRgu et werssy 3Torfes Sert g9 fera 2 |
(13.3) 39 U 1 A forRaw sral asfter Ml siadia gars uoq fRua @ |
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Note : The following question is for Visually Impaired Candidates

(13.1)

(13.2)

(13.3)

only in Lieu of Q. No. 13.1 and 13.2

Name the place where the Indian National Congress session

1

was held in September 1920.

(a) Name the State where Tarapur Nuclear Power Plant is
located.

OR

(b) Name the State where Kalpakkam Nuclear Power Plant is
located.

In which State Rajiv Gandhi International Airport is located ?
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e . 18 % fow AEfes
Map for Q. No. 13

WA hT TSIk AAEA
POLITICAL MAP OF

INDIA

km Scale : 1:15000.000 km
100 50 0 100 200 300 400 500
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